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Q.No: 1 In which of the following years, Red Revolution was started?

2426879
Fofafea & 9 g of # @ wifa ot goom g 9
1950
A
1950
1980
B
1980
1990
c
1990
2000
D
2000

Correct Ans : B

Subject : General Knowledge

Q.No: 2 The development of was termed as “Neolithic Revolution”?
2426916

& fAS BT "IqUITOT Hifa" FHgT T U2

Agriculture
A

kL

Metallurgy
B

g fam

Megaliths
C

Fmfers

Homonization
D

BAFTESIRT

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Who introduced bronze tanka in place of silver tanka?

2426927
RieaR €1 & RM R B P11 by =ramar 41
Sher Shah Suri
A
RIE
Iltutmish
B
ErsniRy
Akbar
C
PR

D Mohammed Bin Tughlaq
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Tigwg fF gee
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Hymns are dedicated to the gods and natural gifts in

2426936
ST # aareit SR Urplaw SUBRl ®1 wAftd ¥
Rig Veda
A
Bag
Yajur Veda
B
7gie
Sama Veda
C
g
Atharva Veda
D

Spudag
Correct Ans : A

Subject : General Knowledge

Q.No: 5  Which of the following dance of Punjab aims at expressing the feminine grace?

2427004
tag & Foffed 8 9 59 T 31 330 w3 FU B o F 82
Giddha
A
g
Bhangra
B
HITST
Gatka
C
TdhT
Garba
D
TReT

Correct Ans : A

Subject : General Knowledge

Q.No: 6  How is ‘Kolkali’ related to Lakshadweep?

2427016
"epTeiebTal”, AT & B Wil 32
Folk dance of Lakshadweep
A
&Y BT TP T
Festival of Lakshadweep
B
THEIT BT ABR
Food of Lakshadweep
Cc
T FT 4T
Fabric of Lakshadweep
D

AT BT BUST
Correct Ans : A

Subject : General Knowledge


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 7 In which year did the National Games start in India?

2427497
HRA & T Tl B oend fbd av g32
1924
A
1924
1928
B
1928
1932
C
1932
1936
D
1936

Correct Ans : A

Subject : General Knowledge

Q.No: 8  Who won the first gold medal for India in Asian Games?

2427502
TR el # 4Ra & o ggern ol uee fbe sftar ar
K P Thakkar, Athletics
A
% O oEaR, Talee
Ranjit Singh, Athletics
B
Uit R, quafes®
Sachin Nag, Swimmer
C
w3
Kulwant Singh, Athletics
D

padd Rig, Tuaee
Correct Ans : C

Subject : General Knowledge

Q.No: 9  The International Monetary Fund (IMF) has kept India’s growth forecast for 2021-22 at how much percentage?

2428887
SeRIPIA GaT S (IMF) 7 2021-22 & RI7 yRa & {8 & 3gaE 31 i wfiwe = @ 82
10%
A
10%
9.5%
B
9.5%
11%
C
11%
8.5%
D
8.5%

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Which of the following Grand Slam tournaments is not matched with the respective sports court?
2430497

1 8 3 1 s W g Jwifta 9a S 9 GARM el 87
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A French open-clay court
%9 Slu-aa I
Australian Open - Hard Court
B
SR sivm- B1S FIE
Wimbledon - Grass Court
C
feas- o e
US Open-Clay Court
D

U 3ivH-ad BIE
Correct Ans : D

Subject : General Knowledge

Q.No: 11 What is the maximum capital required to start Small Finance Banks (SBFs)?

2434047

g faa S&F ( SBF ) &1 UR™ S & U sifdrpaw frat ot & siazadmar gkl @ 2

100 Crore
A

100 IS

500 crore
B

500 RIS

1000 crore
C

1000 TS

5000 crore
D

5000 HAS

Correct Ans : A

Subject : General Knowledge

Q.No: 12 Where is the Bharat Bhavan situated in Madhya Pradesh?

2441036
HRT M 7 T | el Rd 82
Bhopal
A
sfarer
Gwalior
B
iR
Indore
Cc
R
Jabalpur
D
SRR

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Where was Tansen buried?

2441051
AR P T GHATT T AUT?
Bhopal

A
AT

B Gwalior
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IR

Mandu
C

A

Morena
D

ol

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Which of the following is NOT a book by Shri Harishankar Parsai?
2441073

Frofafea & 3 o ff sheior = 3 gws 78 82

Apni-Apni Beemari

A
SR-areet el
Nithalle ki Diary
B
frow 1 st
Awara Bheed Ke Khatare
C
et His & T
Jeep Par Sawar Elliyan
D

o7 R WaR it
Correct Ans : D

Subject : General Knowledge

Q.No: 15 In which of the following place is Jai Vilas Palace located?
2441352

o faama tor fafafes # ¥ e =m w Ra 32

Datia
A

aferan

Orchha
B

BT

Bhopal
C

T

Gwalior
D

IR

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where is Gauhar Mahal located?

2441372
TeR Wea Pl FUd 87
Khajuraho
A
Chanderi
B
Ll

(o} Bhopal

GET IT ON

Google Play
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Mandu

g
Correct Ans : C

Subject : General Knowledge

Q.No: 17 The first green-field Special Economic Zone (SEZ) in Pithampur is India’s green-field Special Economic Zone (SEZ).
2441644
drmgR # vga fF-wics Ry onffe & (T0.3.918.) YRd &1 HH-wics R o & (T0.3.98.) B!
first
A
A
second
B
LSl
third
C
e
fourth
D
el

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Which of the following districts is known as the sugar bowl of Madhya Pradesh?

2441653
Frafafed # & &1 a1 Rren Aeme & 4 $ SR S wU F S w6 82
Jabalpur
A
SIS
Singrauli
B
Rt
Narsinghpur
C
TRER
Betul
D
@

Correct Ans : C

Subject : General Knowledge

Q.No: 19  Which of the following districts has Slate pencil industry as the main industry in Madhya Pradesh?

2441666
T R & A 7 9 R R F v fver s 3w R @1 ger e g2
Aligarh
A
Eiury
Mandsaur
B
TR
Neemuch
C
Qe
Ujjain
D
I

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 The Sal trees are confined to the part of Madhya Pradesh.
2441680
A & U3 7 e F T T i T
Western
A
ufge
Eastern
B
ksid
Central
C
I

North-western

IR-uidt
Correct Ans : B

Subject : General Knowledge

Q.No: 21 Name the method through which drinking water is purified and is proven to be safe for drinking purposes?

2422805
39 fafty &1 9™ Farg frgd Aeam § 0N F o B g fhar o @ &R 17 F R QRfda wiva g 82
Vaccination
A
EepTenvur
Aquafication
B
TSI
Chlorination
C
AR
Decontamination
D

it

Correct Ans : C

Subject : General Science

Q.No: 22 Filters containing tiny pore that causes the cessation of bacteria from penetrating the sheet-like structure so that potable water could be obtained.

2422806
B R a1 freey St SR 1 e SRl e F g § Joa § il O dier ol et v s
Porcelain filter
A
=+ gt & SRa fpeeR
Aqua guard
B
Leabics
Mosquito mesh
C
HEIX SIS
Filter paper
D
P T

Correct Ans : A

Subject : General Science

Q.No: 23 Ross taught her to save water because:
2422810
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9 A 3 UM F= R Hifds:

It is non-renewable

A
7g IR-"dioiia &
It is used for drinking
B
THHT SUAT i & fore fosar < B
Water is found in liquid, solid and gaseous form
C
Tt e, S IR fefta v F ara s @
It is renewable.
D

Ig TR g1
Correct Ans : A

Subject : General Science

Q.No: 24 What is the condition of disturbances in physiological or psychological processes of body?

2422981
TRR B RN 1 AT wieaied  Tsas) @1 fufa @ 87
Disease
A
W]
Health
B
wrey
Fitness
C
ey
Diet
D
3R

Correct Ans : A

Subject : General Science

Q.No: 25 The reason and symptoms of each disease are

2422982
TS 0 F HROT AR O B E
Same
A
EUI
Specific
B
farkre
Identical
Cc
LEIE)
Similar
D
qHH

Correct Ans : B

Subject : General Science

Q.No: 26 Dengue is caused by

2422987
37 f59d HRO a1 82
Mosquitoes

A
Rt
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Lizard

gt

Bacteria

Sftarg

Virus

CIELGE
Correct Ans : A

Subject : General Science

Q.No: 27 The scattering of seeds to different sites is known as the dispersal of seeds. Which among the following is not the means/agent of dispersal?

2428006
fafts vt o e & e 91 sl & Sar & wu F 9 o | e 39 9 S o /o T g
thunder
A
foreredt
air
B
Bl
water
C
it
animals
D
EISCN

Correct Ans : A

Subject : General Science

Q.No: 28 What are the measures we should take to get good yielding plants? Pick the odd one out.

2428009
IS IS A A T I R P A o 1 U™ B AMfee? w1 I
The farmers should use healthy seeds
A
T S il &1 W
The farmers should add the right kind of fertilisers and manure to the soil.
B
foramt ot i & et UeR &1 e SR @i STer Tty
The farmers should use biopesticides.
C
il ® S PreT! BT ITIT FA AR
The farmers should insecticides.
D

frami 1 Fe=e Tl
Correct Ans : D

Subject : General Science

Q.No: 29 The science of classification is called

2428775
arffeRu & fag 1 el S @
taxonomy
A
afffet
morphology
B
SRa-Raar (Aptaish)

C phylogeny

GET IT ON

Google Play
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fopairorft

nomenclature

AR

Correct Ans : A

Subject : General Science

Q.No: 30 Check the odd one out:

2428782
fawm 31 Sifg &%:
Multicellular green plants
A
TEHIREI W 0
chloroplasts
B
TR
advanced algae
Cc
EECR GG
fungi
D
Geca

Correct Ans : D

Subject : General Science

Q.No: 31 is the hygienic measures for food safety.
2428991

TTed W F faw ww 3ug g

Biodegradable dustbin

A
IRSASTT e
Food sanitation
B
re] Wl
Organic dustbin
C
S B3aH
Inorganic dustbin
D

HPTES e
Correct Ans : B

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428992 options.

Assertion(A): Hygiene is Related to good environment.

Reason(R): Control an environmental factors that form links in disease transmission.

e T uy & § Fue 8 R @ 0 31 "yt SR g B PR F T F AT 5 T 31 TE 37 G FURl Bt GrayrigdE g Fe @ ok fou e fawedi # § vy a1 w9 SW

SABY (A) : AT BT Yy 3 qraIR F )
HROT (R) : 0T GoRUT § Hael §9H arl Gafaroiy SRt &1 e a1

Both A and R are true

ASRRIFTEE

B Both A and R are false
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A SRR F

A s true but R is false.
C

ATIRAFTIR GBI I

A is false but R is true.
D

AR AT R TR
Correct Ans : A

Subject : General Science

Q.No: 33 Two diseases caused by drinking polluted water containing sewage.

2428994
et 7o gl o o 3 9 ard & 3
Cholera and typhoid
A
o ok TR
Cholera and tuberculosis
B
o ofR qAfe
Malaria and dengue
C
HafEr 3R 37,
Chicken pox and polio
D

e dfem ol it
Correct Ans : A

Subject : General Science

Q.No: 34 Clostridium perfringens causes

2430041
FI ST RAFSY BT FRA____ T §
Food poisoning
A
T fawrerar
Asthma
B
ST
Reproductive problem
C
LEEEA L]
Goitre
D
TUSHTE!

Correct Ans : A

Subject : General Science

Q.No: 35 Which one if the following is wrong about the preservatives being mixed with ready-to-eat foods to keep them from spoiling?

2430056
I URRe T T 3 oy R ey verdl & WX g § 599 3 Rie ffie fem o 1 3, O FefaRid 3 3 9w ea 82
BHT

A
de=dt
BHA

B
LR
MSG

c
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D DDT

S

Correct Ans : D

Subject : General Science

Q.No: 36 P + Q means P is the sister of Q. P x Q means P is the mother of Q. P - Q means P is the brother of Q. P + Q means P is the father of Q.

2422449
What will come in place of question mark (?) in the given expression?
V x W+ X?Y+ Zif Vis the Paternal grandmother of Z.
P+Q@fgfrpe QA mRIPx Q@ af e QA AR P-QEaf i p Qe uEgIP s QI af ¥ fH P Q@ i 21
o Tu =iore # uyaras B (2) & RIFA R & SR
VXW+X?Y+2zaRy, z % 9ge g 8
+

A
+
X

B
X

(o}

D

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Pointing to a boy Ritesh said, “The boy is the son of the only child of my father.” Waht is the relation between Ritesh's father to that boy?

2422471
TH TSP BI SR IIRT FRA U R A T, “Ts1 AR e 31 et Gam 1 37 31 R F i &1 99 a5 F a1 Tay 32
Grandfather
A
qrar
Son
B
et
Father
C
forrr
Uncle
D
kIl

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422584
0, 2, 4, 14, 20, 30, 42
el | TTed $H BT Ul TE?
0, 2, 4, 14, 20, 30, 42
14

A

14
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20
B

20

30
c

30

a4
D

a

Correct Ans : A

Subject : General Reasoning

Q.No: 39 Find the wrong term in the series?

2422604
4,12, 48, 240, 1420
gl T TTed W P Ul TIL?
4,12, 48, 240, 1420
12

A
12
48

B
48
240

C
240
1420

D
1420

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424508
Eruchicae eeEEd |
Nephrology
A
AprarSt
Entomology
B
TS
Astrology
C
Fgrarst
Mycology
D
HrgebialS

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.
2425643

GET IT ON

Google Play
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59 3Pl A By 1 YS9 il

11

11
12

12
13

13
14

14
Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426290

AEHN : BGKR :: DFGN : ?

I SHER-TIE BT TG Y ol N 3eR-Tg A S TR Faf § A g 31eR-TE, T S1eR-9g F Weifdd g1

AEHN : BGKR :: DFGN : ?

EHIR
A

EHIR

EIJR
B

EIJR

EHKQ
c

EHKQ

DHKQ
D

DHKQ

Correct Ans : A

Subject : General Reasoning

Q.No: 43 A person starts walking towards south. After walking 10 m he turns to the left, after walking 15 m he again takes a left turn. At the end, what direction does he take?

2426341

T Sfd R0 A FF SR Fe URY FRar §1 10 Hiex Ta9 & a1g 9l SR g S 8, 15 Wex TeM & a1 98 I a1l ofR g onen 31 ofd A, 9% fw fwm A < 82

East
A

o

West
B

ufZ|

North
c

IW

South
D

afgor

Correct Ans : C

Subject : General Reasoning

Q.No: 44
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2426390 Select the option /number which is related to 3rd number in the same way as 2nd number is related to a
Ist number?
3:9586:?

3 TEAT [weT & TUT FY A AEd FEA F 3 THR FaOd § AW GES TEAT Igar
T ¥ HErea gl

3:986:?

180

180
36

36
12

12
216

216
Correct Ans : B

Subject : General Reasoning

;2‘-1'\!2%44151 Select the option /mumber which is related to 3™ number in the same way as 224 number is related to a
It number?

5:1250:6:7?

3@ T /Aeed 1 99 FT A IEY TEA ¥ W TER FaOd § S g@d sEam ager
=TT ¥ wEfaT ¢ |
5:1250::6:2?

2160
2160
360
216

216
3600

3600

Correct Ans : A

Subject : General Reasoning

Q.No: 46 In the given diagram, Rectangle represents the number of people uses WhatsApp, Triangle represents the number of people uses Facebook and Circle represents the number o
2426555

9
7
n

)
/13

Find out the number of people who uses only WhatsApp and Facebook both.

14

T U o H, SEId RIEHUT ST LR B a1 ARl 3 WS BT i IRl 8, By Huas B ST 3 a1d alt @ T8 BT UiafA i SRal § SR 9 SRR B SUANT $3 T an <

9
7
n

10
/13
F NN @Y ST I P N e @Teaey SR BHgd & BT ITNT FRA B
11

14

11
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B 10
10
14
C
14
7
D
7

Correct Ans : B

Subject : General Reasoning

Q.No: 47 In the given diagram, Circle represents engineers, Rectangle represents Social workers and Triangle represents Sports person.

2426600
5W3
How many Engineers are Sports person?
fow g v #, g9 SRR @1 wfafafta o R, smaa arifee sriwatst &1 vfafiie w=ar § ok Prye feardt #1 nfofifie s=ar
9
A
9
12
B
12
3
C
3
14
D
14

Correct Ans : B

Subject : General Reasoning

Q.No: 48 What should come in place of question mark (?) in the following question?

2429531
FHIL : ? :: NPRT : SKWO
Frofafea vy & vy % (7) & ®A W 1 9F 8 91T 2
FHIL : ? :: NPRT : SKWO
KCOF
A
KCOF
KCP1
B
KCPJ
KCOG
c
KCOG
KCoP
D

KcopP
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Correct Ans : C

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433192

= o W S 7, 9y e F A 9 gu s

2

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.
2433488

?

S\
(2]

I MR N v B o Y B gy wdl )

?

[

N
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N

@
=
s
<A
D</

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434883
3:27::5:7?

I facped 1 79 B S It T § I3 yehR Tl § S gudt S, ueeh g @ gefia R
3:27::5:7?
45

45
19

19
30

30
50

50
Correct Ans : A

Subject : General Reasoning

(22-NC3 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
aaorzz If it rains, I will bring an Umbrella
A. It is raining
B. I have bought an umbrella

C. It is not raining

D. I have not bought an umbrella
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o T gy B g T SR IUF 18 TR HUA §| T B BT G A, 98T I5d HYF B ddd gk YA I 7, R & FUF difdd FY ¥ T FUF Y A 7
SR TR g€ o & wrar A

A SRR AR

B. #7 1% o wiar @

C. TR TH AW R

D. 3 B T wdiar ¥

AB

AB
BA

BA
DA

DA
CD

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53
2440209

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
When you drink green tea, your metabolism gets up

A. you drink green tea

B. you did not drink green tea

C. your metabolism got up

D. your metabolism did not get up

R T 9y # 9@ H4F SR SUF 18 TR HUA §| TYHI BT BT IH T, 981 Ugd BT BT T guR HUF I §, R Q) FuF qifd FY ¥ T FUT Y T &
St s T & Y ¥ s et 39 8 S 8

A A AW

B. MA@ T Gt &

C. 3T AeTaifreH asl 8l T

D. 3TueT Aeraiiered 3l el gam

AC

AC
BC

BC
DA

DA
CD

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 54
2440256

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If someone cheats you, you lodge an FIR.

A. someone cheated you

B. No one cheated you

C. you lodged an FIR

D. you did not lodge an FIR
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T 7TQ iy 7 Y51 B SR IS TG TR BUT § | DY BI BT H T, W61 Ugd HYUF B Al g8 HUF 8, 3R & YA dlivd TU T GO HUT F A 51
M P MU el e B, < ST T &

A. Ta it 3 suept e fear

B. o5l T smuep! v &1 e

C. 30 Ueb it af et

D. 37 Tufiet &t 7 Bt

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441949

ZBXD: VFTH :: NCKE : ?

T4 e 1 7 ¥ S iR U I ST TR Tala & O TPR g1 Ug Usd Ug I el § |

ZBXD: VFTH :: NCKE : ?

JGGI
A

JGGI

JHGI
B

JHGI

JGHI
C

JGHI

JHHI
D

JHHI

Correct Ans : A

Subject : General Reasoning

Q.No: 56 : e 10
2423334 Simplify: 24 -12+4x3

WA B 24-12+4 %3

13
A

13

14
B

14

19
C

19
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27

Correct Ans : B

Subject : General Maths

Q.No: 57 simplify: 97-[50- {35 - (15 +3-2)}]

2422359
WA B 97— [50- {35-(15+3-2)}]
70
A
70
75
B
75
78
C
78
60
D
60

Correct Ans : C

Subject : General Maths

Q.No: 58 Kapil deposited Rs.7890 with a finance company for 2 years at an interest of 6% per annum. What is the compound interest that Kapil gets after 2 years?

2423596
Ffa 3 7890 W 0 faw FoH A 2 I & R 6% v 9 F s iR o w1 Hfia @ 2 9y a1 e wweefs e e 82
Rs.975.204

A
Rs.975.204
Rs.278.308

B
Rs.278.308
Rs.321.601

(@

Rs.321.601
Rs.760.358

D

Rs.760.358

Correct Ans : A
Subject : General Maths

(22‘4I\‘203:65191 Aayushi took a loan of Rs.11000 against her insurance policy at the rate of 122% per annum.
Calculate the total compound interest payable by Swati after 2 years.
3l 2 11000 S @ 122% e @ ey o aiforedt 3 ey wvot foram) sy ganr 2 adf
& dIe & Frel Ushg & TS hl IT0TAT I |
Rs.7579.2681
A
Rs.7579.2681
Rs.2123.1281
B
Rs.2123.1281
Rs.1287.321
C
Rs.1287.321

D Rs.2921.875
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Rs.2921.875

Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428576
[2626 =26 -100f2 +50-26 x 3+ (30f20-4 x 12 + 16 - 25 + 5)]
skad
[2626 + 26 -2H110 + 50 - 26 X 3 + (20 P13 -4 x 12 + 16 - 25 + 5)]
70
A
70
76
B
76
77
C
77
80
D
80

Correct Ans : B

Subject : General Maths

Q.No: 61 Find the average of the first five even numbers.

2432515
ugeht Ui wu WRemsit @1 siad W BN
7
A
7
6
B
6
8
o
8
9
D
9

Correct Ans : B

Subject : General Maths

Q.No: 62 1f4 + bh =5 and ab =2 find the value of a2+ b2

2434682
& a+b=5 3N ab=28 A a+ b 2 BT HF JId B
21
A
21
20
B
20
25
C
25
30
D

30


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Correct Ans : A

Subject : General Maths

(22;,'\;(1{76332 If x2—4x + 1 =0, then what is the value of (x8 + x-6)?

i x2— ax + 1 =O%,T‘ﬁ(x5+x6)aﬂr{ﬂﬁ]—daﬁl

2744
A

2744

2716
B

2716

2702
C

2702

2786
D

2786

Correct Ans : C

Subject : General Maths

Q.No: 64

2334762 x*+ ' 320 x=0 x-1)
If X , then one of the value of * X '/is:
a1 R
qﬁx +x_4:322X=0 %’?ﬁl\x—;iquﬂ%
6
A
6
8
B
8
2
c
4
D
4

Correct Ans : D

Subject : General Maths

Q.No: 65 Dimple made a profit of 50% on selling price when selling a suit at Rs 8000. Find the cost of the same dress.

2435207
f¥ua 8000 T0A B UF Y I Tga fahd T W 50 U= H1 a1 HURN 81 39 39 S T 1 Siforg?
Rs 4000
A
4000 ¥
Rs 3500
B
3500 %
Rs 4500
c
4500 %

D Rs 1400
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14007

Correct Ans : A

Subject : General Maths

Q.No: 66 Rohan buys an old scooter for Rs 5300 and spends Rs 600 on its repairs. If he sells the scooter for Rs 8000. What is the sum of money he gains as profit?

2435227
VT TP TR pex 5300 F9 H TedT § SR 600 94 IS FRATd W WY 1 31 A 98 Tpex $F 8000 04 & J9a1 §1 @1 & &9 § I fbart ovrifr ured geft 82
Rs 2100
A
2100 9
Rs 2400
B
2400 30
Rs 1900
o
1900 T
Rs 2150
D
2150 ¥0

Correct Ans : A
Subject : General Maths

Q.No: 67 A shopkeeper wants to gain 20% after giving a discount of 10% on Marked price of the article. Marked price of the article is marked above the cost price by

2435287
TF GPFGR TS I R 3MfHd T W 10% Bt G SH 20% HT A SHSfd FAT =gal 31 1 Y & a¥g W <Hfebd 7ea A 7ed @ e oifdies fafea fasar man §
36%
A
36%
32.80%
B
32.80%
33.33%
c
33.33%
38%
D
38%

Correct Ans : C

Subject : General Maths

Q.No: 68 . (s N)ordt.
2437465 Whatis the value of 3~ (:" u,)"f z is:

3

PG I AR

14
A

14

15
B

15

18
C

18

16
D

16

Correct Ans : A

Subject : General Maths
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Q.No: 69 Convert 0.343434..... into a fraction
2437485

0.343434..... B @@ i@ § 30|

31
99

31
99

32
99

32
99

33
99

33
99

34
99

34
99

Correct Ans : D

Subject : General Maths

Q.No: 70 Which one of the following statements is true?

2437545
FofiRea & 9 o @ 9 v 82
A regular polygon of 10 sides has 10 lines of symmetry.
A
10 YOSt & U Fraftid sgye & gafia $t 10 e it §1
A circle has no line of symmetry.
B
@ TR & S 3 31 @ 76 81
An angle has two lines of symmetry
C
T B0 H G B 8 e el B
A regular hexagon has only 4 lines of symmetry
D

T Faft| Yeys § IHReTdr 3t S 4 T g §
Correct Ans : A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘HONESTY’ is written as ‘ABCKZDQ’ then ‘TONY’ will be written in the same language as?

2422534
T ot Widsfa® U & "HONESTY' @1 'ABCKZDQ' feram Sl § af 'TONY' 3T It HreT 7 ferar e foret?
DBCQ
A
DBCQ
QDCX
B
QDCX
CBXZ
C
CcBXZ
cQDC
D

cQDC

GET IT ON

Google Play
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Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘UNITY’ is written ‘FMRGB’ then ‘“TRANQUIL’ will be written in the same language as?

2422564
IS Tt Wil W & "UNITY' &Y 'FMRGB' feral g & "TRANQUIL' &1 31 wrwr & ferar smoen forgd?
GIZMIFRO

A
GIZMIFRO
TZMFIROM

B
TZMFIROM
MIROIZBS

C
MIROIZBS
GMPFZROI

D
GMPFZROI

Correct Ans : A
Subject : Mental Ability

24'\‘205:57;32 In a row, Maya is 14%® from left end and Vineet is 26% from right end. When they interchange their
position respectively, then Vineet becomes 29 from right end. Then what will be Maya position from
left after interchanging?

T Ufe , T 9 BR 9 149 iR fa7ia < 9R ¥ 268 WA W B, 99 3 HU: 30 F 9ead ¢ o f3Fd 5l SR & 20a 81 9 81 o 91§ Wn B E a4 g

15
A

15

13
B

13

18
C

18

20
D

20

Correct Ans : C

Subject : Mental Ability

Q.No: 74 Identify the set for the word INTIMATE.

2426500
& INTIMATE & 1Y 981 99&d &1 uga Hivg
89786145

A
89786145
79438163

B
79438163
78579452

C
78579452
78698365

D
78698365

Correct Ans : C
Subject : Mental Ability
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Q.No: 75
2426530

If FULFNHW is the code for CRICKET, then EULGH is the code for which word?

If& FULFNHW, CRICKET &1 %¢ g, df EULGH T st &1 e &2
PRIDE

PRIDE
BRIDE

BRIDE
BLADE

BLADE
BLIND

BLIND

Correct Ans : B
Subject : Mental Ability

Q.No: 76
2430215

In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: In a one- day cricket match, the total runs scored by a team were 20. Out of these 16 runs were made by spinners.
Conclusions:
1. 8% of the team consists of spinners.

II. The opening batsmen were spinners.

Frofefaa wsit &, <1 w5 < ISR 1, 11 37 SRR F7d § ST G YAl R TR S 8, 4o @ § 3mIdR | 71d auil § welid 89 @1 simuet g Ry e wue % 9l fsed g1 &t St 3T

PUT: 0 ey fbdbe §9 ¥, U W §R1 ST 10 $ol 3 20 A1 378 9 16 ¥ AR R §91¢ 7Y )
fred:

1. 80 ¥ 8% fQardl R €

11. Far aeiar R A

Only conclusion I follows

Paa Fepy 1 SR Har §

Only conclusion II follows

P Prepd 1T SR Hal &

Either I or II follows

1 I 7 LT SRR el §

Neither I nor II follow

T L 3R & 1 TR BT B

Correct Ans : D
Subject : Mental Ability

Q.No: 77
2430244

In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Japan's economy is dependent mainly on agriculture.
Conclusions:
1. Trees should be preserved to improve Japan's economy.

II. Japan wants only maintenance of the forests to improve the economic conditions.

Frofafaa ust #, & Fua 31 Fspy 1, 11 3T SEIR0 IR § SUD! Sl DAl TR IR S 81T, 43 & 9 SR W 31 adl § Uedid 89 | 3us! 1 feu T oA & afg fesd €1 dl 39wt 9am

PYT: T B SrfoTaRi BT w0 § FY R AR B
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frep:
1. STUF 3t rforaen # guR & R 95T @ Wwiga fm s arfgu
I1. ST snffes Rufer 7 ur & g Saet STl 1 weRwE 916 gl

Only conclusion I follows

A
el ey I SR Bl §
Only conclusion II follows
B
o Prepd 11 SRR S &
Either I or II follows
C
1A I TT 1T SR A §
Neither I nor II follows
D

A I R A I TR BT 7
Correct Ans : A
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435457 conclusions logically follows from the given statements.

Statements:

1. Some cricket are football.
II. All football are carrom.
Conclusions:

1. Some carrom are cricket.

II. Some carrom are football.

R fag T e # &1 oA SR 3P 91Q 31 e 18R 11 U T B Suet Y T B &1 W A ©, 918 3 UHIE: I 9 § i e g 8, ofue! Fofa @ § o Ry e et H 4 B
P

1. T frde peara g

11. Tff peata H=a g1

e

1. 3% & f5de 7

11. $© $W Beara gl

Only conclusion I follows.

Paq Iy 1 SFTER R B

Only conclusion II follows.

Fae FIepy 11 SR Sl B

Both conclusions I and II follows.

Gt Frepef 1 @R 11 3Ry 74 B

Either conclusion I or II follows.

a1 A Fiepd 1 a7 11 SigeRY HRar B
Correct Ans : C

Subject : Mental Ability

Q.No: 79 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435517 from the statements.

Statements:

1. Some dancers are writers.

2. All writers are students.

Conclusions:I. Some students are dancers.
I1. Some students are writers.

II1. No student is a dancer.
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fow T Syl SR Hepl B wrYds U U8 Hid U b Byl § & TS SHeR! 9 §, WA €] 98 WG T 9 9 3 Udid g1t 1, g8 iy o i G e eeat # @ ol w1 ey iy
F:

1) % 7w, TRaw Bl

2) Tl TRaw, I €I

e

1. % BH, ToF g
11. $ B, 49D 8
111, 1§ BT, T el 81

Only conclusions II and III follow.

A
e frepe 1T SR 111 SeR v §
Only conclusions I and II follow.
B
Fad ey 1 3R 1T SFFER B3 §
All conclusions I, II and III follow.
C
Tt P 1, 11 3R II1 SRR TR &
Either conclusion I or III follows.
D

a1t fsm 1 a7 IIT SigeRor gar §
Correct Ans : B

Subject : Mental Ability

Q.No: 80  In the following question, the statements are followed by conclusions. Study the conclusions based on the given
2438540 statements and select the appropriate option as your answer.

Statement:

S=A<P>R<T<U

Conclusions:

I.U>A

I.S<T

Al e e &, FU=! & arg fosed fgu o §)

U 3T @l & HTUR I TTShY &7 Hegder B AT 379 3cal & §9 & 59Gad fdaed & 99 B
FIeT:

S=A<P>R<T<U

forsd:

LU>A

IL.S<T

Only conclusion I is true

A
Faa P 1 9@ @
Only conclusion II is true
B
Foa = i va
Either conclusion I or II is true
C
g rarvad
Neither Conclusion I nor II is true
D

TRFSfI RS IITIE

Correct Ans : D
Subject : Mental Ability

%1123:5211 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
Y<]J=P2R>I
Conclusions:
I. 1>1
II. Y XR
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AEAfafd 9ot &, el & arg Fvad U a1

fET 1T el & R W Ay &7 e Y A 399 3001 & 9 & 359G fadmed &1 a9 |
FUT:

Y<]=P2R>I

e

L J1>1

ILY<R

If only conclusion I is true

A
Foa rf 199 7
If only conclusion II is true
B
Haa ey 119 ?
If either conclusion I or II is true
C
gafei A gad
If neither conclusion I nor II is true
D

ARSI dRTS II T’

Correct Ans : A
Subject : Mental Ability

[224";%58920 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
AxZB+~C=D=E
Conclusions:
I.D+B
II. B XA

fFafafaa et &, Fuet & arg forsad fqu o §)

3T 37T HUAT & HUR R FFT &7 Heqge 6 A 39 3l & §I S 39Gad fawed H 99 Fi
FU

AYB»C=D=<E

foread:

I.D+B

IL BYA

Only conclusion I is true

Poa 19T

Only conclusion II is true

Fad ey 11 9T 7

Either conclusion I or conclusion II is true

gafefITnaat

Neither conclusion I nor conclusion II is true

Fdafef 1 dRTQ I I

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true even if they seem to be at var
2439076 the given conclusion logically follow(s) from the given statements.

Statements:
No sun is moon.

No sun is earth

1 feu T s F, QY FUA & a1 [awedt F AR faped Gy MU F 1 st 3 MU Tt Y I A €, Ha § 3 adve aut | g eita 81 81 v fawedt o1 ofeu e @ wifvie i o e et
PY:
¢ g <A T 2
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D T g T T

No moon is earth

A
PIE e et T ?
All moon are earth
B
Tt < gt §
All earth is sun
C
ol gl i @
All sun is moon
D

o @@ e
Correct Ans : D
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442663

1. Probation

2. Promotion

3. Job

4, Interview

w

. Confirmation

Frofifaa wsdl 3 1o qifh® Td sriqyl 0 § ek Fien
1. gRdtar

2, Tt

3. Ard

4. WETHR

5. R

5,4,2,1,3

54,2,1,3
4,1,2,5,3

4,1,2,5,3
51,4,2,3

51,4,2,3
4,3,1,5,2

4,3,1,5,2
Correct Ans : D

Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442672

1. Hunger

2. Cry

3. Feeding

4. Child

5. Sleep

6. Mother

Froafafea et ot aiffe wd srfgf wr F rafem Fifvm:
198

2.

3. WU

4, 5=
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5. i

6. HI

4,5,2,6,3,1

A
4,5,2,6,3,1
4,1,3,6,5,2

B
4,1,3,6,5,2
4,1,2,6,3,5

C
4,1,2,6,3,5
4,1,2,3,5,6

D

4,1,2,3,56
Correct Ans : C
Subject : Mental Ability

Q.No: 86 Ankit can finish typing a 515 page document in 28 hours, Ramesh in 29 hours and Suresh in 30 hours How long will they take to type a 515 page document if they work togett

2423710
Siftrd 515 U3 & A $Y 28 T T, T 29 ¥ H 3R G 30 He T TZY TR Tl ¢ AR J WY H H1H FXA € A S 515 U $T G eIy FA F a1 I aivm?
1232/23 hours
A
1232723 4¢
2042/612 hours
B
2042/612 W
23134/2342 hours
C
23134/2342 6
12180/1261 hours
D

12180/1261 ¥¢
Correct Ans : D

Subject : General Aptitude

Q-No: 87 A and B can do a piece of work in 21 days; B and C in 23 days and A and C in 27 days. In what time can they do it, all working together?

2423762
A IR B TE TR $T 21 AT H R I@a §; 23 AT T B iR € 9k 27 T H A 9R €. 3 Wt 1o a1y o119 33 gU 39 e oa & R 996d §7
8765/23 days
A
8765723 &7
8694/557 days
B
8694/557 f&
3234/157 days
c
3234/157 f&A
9867/321 days
D

9867/321 &7
Correct Ans : B

Subject : General Aptitude

Q.No: 88 Rohit house is 29 km away from his school, if the speed of school bus is 5 km/hr. calculate the time by which bus reaches school.
2427281

AR B W oA pa F 29 R B, 9 wpa w9 @ 7y 5 /e § O ag 3 HIR fr 9w 5y T 96 @pd vgEd R |
A 6.3 hours
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6.3 °§¢
3.4 hours

3.4%

7.2 hours

7.276
5.8 hours

5.8 ¥¢

Correct Ans : D

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 22?

2427586
Frofafea § 4 o1 22 § fausa 2
2024
A
2024
6782
B
6782
8673
C
8673
9827
D
9827

Correct Ans : A

Subject : General Aptitude

Q.No: 90 In the given figure, what is the ratio of the area of the A STR to the area of the rectangle PQRS?
2431319 p T a

S R

fau T R 3, &he A STR @ 8516 (PQRS) &I 81T, T PQRS Ueh S0 82
T
P Q

S R
oo
5

Correct Ans : B

Subject : General Aptitude

Q.No: 91 A man covers the first 210 km of a journey at 60 km/h and the next 198 km at 66 km/h. The average speed for the whole journey is :

2435970
TP a3 A F UG 210 km BT 60 km/h BT T F 3R 3T 198 km HT 66 km/h B A Y G FHa1 31 G T & SR S TIfr T @2
64 km/h
A
64 km/h
63 km/h
B
63 km/h

c 62.8 km/h
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62.8 km/h

68.5 km/h

68.5 km/h
Correct Ans : C

Subject : General Aptitude

Q.No: 92 Gautam travels 160 kms at 32 kmph and returns at 40 kmph. Then average speed is -

2435990
T 32 foprt. /e @t = I 160 forll. =ear § o) 40 el /efer 31 = & <dear §1 Shwa 91 Sag?
72 km/h

A
72 f. 8
71.11 km/h

B
71.11 f&R. /4T
36 km/h

C
36 foui. /der
35.55 km/h

D
35.55 . /49er

Correct Ans : D

Subject : General Aptitude

Q.No: 93 A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot at a speed of 4 km/hour and partly on bicycle at a speed of 9 km/ hour. The distance travelled on

2435998

TF fFam 7 9 9 & 61 frlh, &) o o0 &1 Al S $© am 4 5. /da 31 TR  Ued @@ 3 ) R Fo amn o /s 31 TR IRfed gR1 9 31 ), < 39 fea g dea @i

14 km
A

14 f&. 1.

16 km
B

16 f. 4.

20 km
c

20 f&.4.

18 km
D

18 f&. 4.

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Train A takes 45 minutes more than train B to travel a distance of 450 km. Due to engine trouble speed of train B falls by a quarter, so it takes 30 minutes more than Train A tc
2436048 km/hr)?

450 fordt, &1 g8 T TR F U T A, T B B g H 45 e ol T Ot 1 399 3 W16 ¥ SR B I U NS H9 1 S § ofd: S A B g A % o o A B gan A

90
A

90

120
B

120

100
C

100

110
D

110
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Correct Ans : C

Subject : General Aptitude

Q.No: 95 18 men or 36 boys working 6 hours a day can plough a field in 24 days. In how many days will 24 men and 24 boys working 9 hours a day can plough the same field?

2436123
18 3MEHt 31dT 36 TSH 6 U UM BT Db TP Jd Bf 24 137 & Slid Gavd &1 24 ST 74T 24 TS faaw 9 He Ui o oy 3t A 31 fva fa & sidie
9
A
9
10
B
10
6
o
6
8
D
8

Correct Ans : D

Subject : General Aptitude

Q.No: 96  The number 106974 is divisible by which of the single digit numbers:

2436136
BT 106974 TF ¥ Jreil oo e & farea g2
2, 3,6 and 7 only
A
2,3, 6 3R 7 Faq
2, 3 and 7 only
B
2, 3, 4R 7 ¥aq
2, 3 and 4 only
Cc
2, 3 3R 4 Faq
2 and 3 only
D
2 3R 3 Fa@

Correct Ans : A

Subject : General Aptitude

Q.No: 97  The face value of the digit 6 in 16008 is:

2436137
16008 & 3% 6 HT SR AF (face value) T :
6
A
6
600
B
600
6000
c
6000
60
D
60

Correct Ans : A
Subject : General Aptitude

Q.No: 98 The smallest number which when added to 571 gives a number whose square root is 24, will be?

2444518 1y gaq Bidt wen Ol 571 # ey IR T U6 Sem urd g et ot 9@ 24 7, geft:
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A 4

4
-
c e
o3

Correct Ans : B

Subject : General Aptitude

Q.No: 99  which of the following group of fractions are in descending order?

2444520 figfofya & 9 HF § et o1 wg ved F3 F 82

Correct Ans : A

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark ? in the following number series?
2444654

9, 28, 126, 344, ?, 2198

Fre el & e | U fag 2 & RIFA W 1 3

9, 28, 126, 344, ?, 2198

730
A

730

1332
B

1332

1001
C

1001

513
D

513

Correct Ans : B

Subject : General Aptitude
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